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NEW QUESTION 1
You are about to release a test progress report to a senior manager, who is not a test specialist. Which of the following topics should NOT be included in the test
progress report? 1 credit

A. Product risks which have been mitigated and those which are outstanding.
B. Recommendations for taking controlling actions
C. Status compared against the started exit criteria
D. Detailed overview of the risk-based test approach being used to ensure the exit criteria to be achieved

Answer: D

NEW QUESTION 2
IEEE 1028 also defines “management review” as a type of review. What is the main purpose of a management review? 1 credit

A. Align technical concepts during the design phase
B. Establish a common understanding of requirements
C. Provide independent evaluation of compliance to processes, regulations, standards etc.
D. To monitor progress, assess the status of a project, and make decisions about future actions

Answer: D

NEW QUESTION 3
What is the Risk Priority Number for risk item number 2? 2 credits

A. 16
B. 2
C. 1
D. 63

Answer: D

NEW QUESTION 4
Which of the following is a benefit of independent testing? 1 credit

A. Code cannot be released into production until independent testing is complete.
B. Testing is isolated from development.
C. Independent testers find different defects and are unbiased.
D. Developers do not have to take as much responsibility for qualit

Answer: C

NEW QUESTION 5
Based on the information given in the scenario, identify how the team could be improved most effectively? 2 credits

A. By providing training in the payroll domain
B. By providing a workshop on test design techniques
C. By providing specific training on the systems being tested
D. By providing training on reviewing requirements

Answer: B

NEW QUESTION 6
A number of options have been suggested for the level of independence to be employed for the testing on the next project, and are shown below.

A. External test specialists perform non-functional testing.i
B. Testing is outsourced.ii
C. Testing is carried out by the developer.i
D. A separate test team carries out the testing.
E. Testing is performed by the business.v
F. Testing is performed by a different developer.Which of the following orders the above in a correct order of independence? 1 credit
G. i, ii, iv, vi
H. ii, i, v, vi
I. ii, v, i, iii
J. i, iv, v, vi

Answer: B

NEW QUESTION 7
In addition to introducing the new team member, you have decided to raise motivation. Which of the measures listed below would be the best measure to take in
order to increase the motivation of the team? 2 credits

A. Provide more time for testing in the schedule
B. Allow people to take some time off
C. Introduce entry criteria to the testing phase
D. Organize a meeting with senior management in which they address the importance of good testing for this project
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Answer: D

NEW QUESTION 8
The test improvement project will take place in an organization developing a safety-critical avionics application. Which one of the following standards do you
believe would be most appropriate to take into account for compliance during your assignment? 1 credit

A. ISO 9126
B. IEEE 829
C. BS 7925/2
D. DO-178B

Answer: D

NEW QUESTION 9
Model characteristics:
Which THREE of the below mentioned characteristics relate to TMMi? 1 credit

A. 5 maturity levels
B. Focussed on higher level testing
C. 20 key areas
D. Highly related to CMMI
E. Continuous model
F. Staged model
G. Focussed on component and integration testing
H. Is build around 12 critical testing processes

Answer: ADF

NEW QUESTION 10
Which of the following phases in the fundamental test process is considered to deliver a document which can be used as a major input for test process
improvement? 1 credit

A. Test planning and control
B. Test implementation & execution
C. Evaluating exit criteria and reporting
D. Test project closure

Answer: D

NEW QUESTION 10
Which THREE activities would be valid steps during the development of the test strategy?2 credits (2 out correct 1 credit)

A. Identify test staff members that will be involved in the system test
B. Define test career paths
C. Understand the software development life cycle used by the software house
D. Assess the testing that needs to be done to minimize the risks
E. Issue the test strategy document for review
F. Define a master test plan template
G. Perform a project risk analysis

Answer: CDE

NEW QUESTION 13
The development manager is managing the review of the responses received from bidders, and has asked the in-house test manager to provide a review checklist
for the test management aspects of the responses. Which of the following checkpoints would be appropriate? 2 credits

A. The bidder’s test policy should enforce that incident management fully conforms to IEEE 1044.
B. The bidder’s project strategy shows that the data content of all the test environments conforms to EU standards.
C. The bidder’s test plan shows that the application will be delivered for acceptance in six months time.
D. The bidder’s project test plan depicts a phased implementation with later delivery dates to be confirmed and states that test deliverables will be developed
using IEEE 829 as a guide.

Answer: D

NEW QUESTION 17
The business has asked for a weekly progress report. Which of the following would be appropriate as a measure of test coverage? 2 credits

A. Percentage of business requirements exercised
B. Percentage of planned hours worked this week
C. Percentage of countries that have test scenarios
D. Percentage of test iterations completed

Answer: A

NEW QUESTION 21
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As a result of the RAD based development approach, the test manager has decided to change the risk mitigation approach. Which test technique might be most
appropriate to use? 2 credits

A. Decision Table Testing
B. Boundary Value Analysis
C. Error Guessing
D. Exploratory Testing

Answer: D

NEW QUESTION 26
Why might a RAD approach be a better option for the test manager rather than a sequential development? 2 credits

A. It will extend the development team’s abilities and enhance future delivery capabilities.
B. It will allow the marketing, clerical and testing staff to validate and verify the early screen prototypes.
C. Time-box constraints will guarantee code releases are delivered on schedule.
D. More time can be spent on test execution as less formal documentation is require

Answer: B

NEW QUESTION 31
Continuing with the Scenario described in the previous question, which of the following topics would you need to address in detail in the master test plan? 3 credits

A. An approach to regression testing
B. A list of boundary values for “advance amount”
C. A description of dependencies between test cases
D. A logical collection of test cases

Answer: A

NEW QUESTION 32
The effect of testing is to:

A. Increase software quality;
B. Give an indication of the software quality;
C. Enable those responsible for software failures to be identified;
D. Show there are no problems remaining?

Answer: B

NEW QUESTION 33
Which of the following statements describes a key principle of software testing?

A. Automated tests allow better statements of confidence about the quality of software products.
B. For a software system, it is normally impossible to test all the input and output combinations.
C. Exhaustive software testing is, with enough effort and tool support, feasible for all software.
D. The purpose of software testing is demonstrating the absence of defects in software product

Answer: B

NEW QUESTION 34
The cost of fixing a fault:

A. Is not important
B. Increases as we move the product towards live use
C. Decreases as we move the product towards live use
D. Is more expensive if found in requirements than functional design
E. Can never be determined

Answer: B

NEW QUESTION 39
Which of the following is the odd one out..?

A. White box
B. Glass box
C. Structural
D. Functional

Answer: D

NEW QUESTION 43
A tool that supports traceability, recording of incidents or scheduling of tests is called..?

A. A dynamic analysis tool
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B. A test execution tool
C. A debugging tool
D. A test management tool
E. A configuration management tool

Answer: D

NEW QUESTION 45
According to the ISTQB Glossary, regression testing is required for what purpose?

A. To verify the success of corrective actions.
B. To prevent a task from being incorrectly considered completed.
C. To ensure that defects have not been introduced by a modification.
D. To motivate better unit testing by the programmer

Answer: C

NEW QUESTION 47
Which of the following are valid justifications for developers testing their own code during unit testing?
(i) Their lack of independence is mitigated by independent testing during system and acceptance testing.
(ii) A person with a good understanding of the code can find more defects more quickly using white-box techniques.
(iii) Developers have a better understanding of the requirements than testers.
(iv) Testers write unnecessary incident reports because they find minor differences between the way in which the system behaves and the way in which it is
specified to work.

A. (i) and (ii)
B. (i) and (iv)
C. (ii) and (iii)
D. (iii) and (iv)

Answer: A

Explanation: 
It is unlikely that developers will have a better understanding of the requirements than testers, partly because testers work closely with the user community (and
may be drawn from it) and partly because developers seldom work with the complete set of requirements in a medium to large development.
Testers may raise incidents related to the difference between user expectations and the specification, but these are not unnecessary. Such issues are more likely
to arise at the later stages of testing.
Early testing (unit testing) is usually done most effectively by developers with a good understanding of the code and the development environment; they can be
more efficient and more effective at this level. Later independent stages of testing offset any disadvantage from the lack of independence at unit testing level.

NEW QUESTION 50
What is the concept of introducing a small change to the program and having theeffects of that change show up in some test..?

A. Introducing mutations
B. Performance testing
C. A mutation error
D. Debugging a program

Answer: A

NEW QUESTION 54
Which of the following defects is most likely to be found by a test harness?

A. Variance from programming standards.
B. A defect in middleware.
C. Memory leaks.
D. Regression defects.

Answer: B

Explanation: 
Variance from programming standards defects (option (A)) are found during the review or static testing process.
Therefore a test harness is unlikely to find a defect in programming standards.
Memory leak defects (option (C)) could potentially be found by a test harness designed to run many test cases. Regression defects (option (D)) could be found
using many types of test tool.
Defects in middleware (option (B)) are generally more likely to be found by a test harness or a dynamic analysis tool than by any other type of tool.

NEW QUESTION 57
Which of the following statements is the MOST valid goal for a test team?

A. Determine whether enough component testing was executed.
B. Cause as many failures as possible so that faults can be identified and corrected.
C. Prove that all faults are identified.
D. Prove that any remaining faults will not cause any failure

Answer: B
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NEW QUESTION 61
Which of the following terms is used to describe the management of software components comprising an integrated system?

A. Configuration management
B. Incident management
C. Test monitoring
D. Risk management

Answer: A

Explanation: 
Incident management is the collection and processing of incidents raised when errors and defects are discovered. Test monitoring identifies the status of the
testing activity on a continuous basis. Risk management identifies, analyses and mitigates risks to the project and the product. Configuration management is
concerned with the management of changes to software components and their associated documentation and testware.

NEW QUESTION 64
The difference between re-testing and regression testing is:

A. Re-testing is running a test again; regression testing looks for unexpected side effects
B. Re-testing looks for unexpected side effects; regression testing is repeating those tests
C. Re-testing is done after faults are fixed; regression testing is done earlier
D. Re-testing uses different environments, regression testing uses the same environment
E. Re-testing is done by developers, regression testing is done by independent testers

Answer: A

NEW QUESTION 68
Tests are prioritized so that:

A. You shorten the time required for testing
B. You do the best testing in the time available
C. You do more effective testing
D. You find more faults

Answer: B

NEW QUESTION 69
Which of the following is correct? Debugging is:

A. Testing/checking whether the software performs correctly.
B. Checking that a previously reported defect has been corrected.
C. Identifying the cause of a defect, repairing the code and checking the fix is correct.
D. Checking that no unintended consequences have occurred as a result of a fix.

Answer: C

Explanation: 
A. Is a brief definition of testing.
B. Is retesting.
D. Is regression testing.

NEW QUESTION 72
In a review meeting a moderator is a person who:

A. Takes minutes of the meeting
B. Mediates between people
C. Takes telephone calls
D. Writes the documents to be reviewed

Answer: B

NEW QUESTION 75
Which list of levels of tester independence is in the correct order, starting with the most independent first?

A. Tests designed by the author; tests designed by another member of the development team; tests designed by someone from a different company.
B. Tests designed by someone from a different department within the company; tests designed by the author; tests designed by someone from a different
company.
C. Tests designed by someone from a different company; tests designed by someone from a different department within the company; tests designed by another
member of the development team.
D. Tests designed by someone from a different department within the company; tests designed by someone from a different company; tests designed by the
author.

Answer: C

Explanation: 
This option has someone nearer to the written code in each statement. All other options are not in this order.
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NEW QUESTION 80
In the MASPAR case study..?

A. Security failures were the result of untested parts of code
B. The development team achieved complete statement and branch coverage but missed a serious bug in the MASPAR operating system
C. An error in the code was so obscure that you had to test the function with almost every input value to find its two special-case failures
D. All the above

Answer: C

NEW QUESTION 83
What if the project isn't big enough to justify extensive testing..?

A. Use risk based analysis to find out which areas need to be tested
B. Use automation tool for testing
C. Both a and b
D. None of the above

Answer: A

NEW QUESTION 88
Faults found by users are due to..?

A. Poor quality software
B. Poor software and poor testing
C. Bad luck
D. Insufficient time for testing

Answer: B

NEW QUESTION 90
A software component has the code shown below: Program BiggestA,
Biggest: Integer Begin
Read A Biggest = 10 While A > 0 Do
If A > Biggest Then Biggest = A Endif
Read A Enddo End
The component has exit criteria for component testing that include 100% statement coverage. Which of the following test cases will satisfy this criterion?

A. 10, 0
B. 10, 5, 0
C. 10, 11, 0

Answer: D

NEW QUESTION 93
When what is visible to end-users is a deviation from the specific or expected behavior, this is called..?

A. An error
B. A fault
C. A failure
D. A defect
E. A mistake

Answer: C

NEW QUESTION 95
Which of the following are most likely to be used when developing a test strategy or test approach?
(i) Failure-based approach (ii)Test specification approach (iii) Model-based approach (iv)Finance-based approach

A. (iii) and (ii)
B. (i) and (iv)
C. (ii) and (i)
D. (i) and (iii)

Answer: C

NEW QUESTION 96
What is retesting?

A. Running the same test again in the same circumstances to reproduce the problem.
B. A cursory run through a test pack to see if any new errors have been introduced.
C. Checking that the predetermined exit criteria for the test phase have been met.
D. Running a previously failed test against new software/data/documents to see if the problem is solve

Answer: D
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NEW QUESTION 101
Which of the following is MOST important in the selection of a test approach?

A. Availability of tools to support the proposed techniques.
B. The budget allowed for training in proposed techniques.
C. Available skills and experience in the proposed techniques.
D. The willingness of the test team to learn new technique

Answer: C

NEW QUESTION 105
Which of the following could be a disadvantage of independent testing?

A. Developer and independent testing will overlap and waste resources.
B. Communication is limited between independent testers and developers.
C. Independent testers are too slow and delay the project schedule.
D. Developers can lose a sense of responsibility for qualit

Answer: D

NEW QUESTION 106
Which of the following statements BEST describes one of the seven key principles of software testing?

A. Automated tests are better than manual tests for avoiding the Exhaustive Testing.
B. Exhaustive testing is, with sufficient effort and tool support, feasible for all software.
C. It is normally impossible to test all input / output combinations for a software system.
D. The purpose of testing is to demonstrate the absence of defect
E. The purpose of testing is to demonstrate the absence of defects.

Answer: C

NEW QUESTION 107
Important consequences of the impossibility of complete testing are ..?

A. We can never be certain that the program is bug free
B. We have no definite stopping point for testing, which makes it easier for some managers to argue for very little testing
C. We have no easy answer for what testing tasks should always be required, because every task takes time that could be spent on other high importance tasks
D. All of the above

Answer: D

NEW QUESTION 110
The purpose of exit criteria is:

A. Define when to stop testing
B. End of test level
C. When a set of tests has achieved a specific pre condition
D. All of the above

Answer: D

NEW QUESTION 115
Which of the following is not true of regression testing?

A. It can be carried out at each stage of the life cycle.
B. It serves to demonstrate that the changed software works as intended.
C. It serves to demonstrate that software has not been unintentionally changed.
D. It is often automated.

Answer: B

Explanation: 
This is a definition of confirmation testing. The other three options are true of regression testing.

NEW QUESTION 117
Which of the following statements are true?
(i) For every development activity there is a corresponding testing activity.
(ii) Each test level has the same test objectives.
(iii) The analysis and design of tests for a given test level should begin after the corresponding development activity. (iv)Testers should be involved in reviewing
documents as soon as drafts are available in the development life cycle.

A. (i) and (ii)
B. (iii) and (iv)
C. (ii) and (iii)
D. (i) and (iv)
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Answer: D

Explanation: 
Option (ii) is incorrect: each test level has a different objective.
Option (iii) is also incorrect: test analysis and design should start once the documentation has been completed.

NEW QUESTION 119
Which of the following are the typical defects found by static analysis tools?

A. Variables that are never used.
B. Security vulnerabilities.
C. Poor performance.
D. Unreachable code.
E. Business processes not followed.
F. b, c and d are true; a and e are false
G. a is true; b, c, d and e are false
H. c, d and e are true; a and b are false
I. a, b and d are true; c and e are false

Answer: D

NEW QUESTION 122
Fault Masking is:

A. Error condition hiding another error condition
B. Creating a test case which does not reveal a fault
C. Masking a fault by developer
D. Masking a fault by a tester

Answer: A

NEW QUESTION 127
For which of the following would maintenance testing be used?

A. Correction of defects during the development phase.
B. Planned enhancements to an existing operational system.
C. Complaints about system quality during user acceptance testing.
D. Integrating functions during the development of a new syste

Answer: B

NEW QUESTION 128
Which one of the following roles is typically used in a review?

A. Champion.
B. Author.
C. Project sponsor.
D. Custodian.

Answer: B

Explanation: 
The Author is the only role that is typically used in a review.
A Champion might sponsor the review process but is not a defined role within an actual review; a Project Sponsor, if technically competent, might be asked to play
a defined role within the review process, but whilst using that role they will not be a Project Sponsor; finally, a Custodian might ensure the results are stored safely
but would not be involved in the actual review itself.

NEW QUESTION 131
Which is not in sequence in 11 Step Software Testing process..?

A. Assess development plan and status
B. Develop the test plan
C. Test software design
D. Test software requirement

Answer: C

NEW QUESTION 132
Which of the following is true of iterative development?

A. It uses fully defined specifications from the start.
B. It involves the users in the testing throughout.
C. Changes to the system do not need to be formally recorded.
D. It is not suitable for developing website

Answer: B
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NEW QUESTION 137
Given the Following program IF X <>= ZTHEN Statement 2;ENDMcCabe’s Cyclomatic Complexity is :

A. 2
B. 3
C. 4
D. 5

Answer: B

NEW QUESTION 140
Independent Verification & Validation is:

A. Done by the Developer
B. Done by the Test Engineers
C. Done By Management
D. Done by an Entity Outside the Project’s sphere of influence

Answer: D

NEW QUESTION 145
Which of the following is not a quality characteristic listed in ISO 9126 Standard?

A. Functionality
B. Usability
C. Supportability
D. Maintainability

Answer: C

NEW QUESTION 146
Which pair of definitions is correct?

A. Regression testing is checking that the reported defect has been fixed; retesting is testing that there are no additional problems in previously tested software.
B. Regression testing is checking there are no additional problems in previously tested software; retesting enables developers to isolate the problem.
C. Regression testing involves running all tests that have been run before; retesting runs new tests.
D. Regression testing is checking that there are no additional problems in previously tested software, retesting is demonstrating that the reported defect has been
fixed.

Answer: D

Explanation: 
Regression testing is testing that nothing has regressed. Retesting (or confirmation testing) confirms the fix is correct by running the same test after the fix has
been made. No other option has both of these as true.

NEW QUESTION 148
“How much testing is enough?”

A. This question is impossible to answer
B. This question is easy to answer
C. The answer depends on the risk for your industry, contract and special requirements
D. This answer depends on the maturity of your developers

Answer: C

NEW QUESTION 149
Failure is

A. Incorrect program behavior due to a fault in the program
B. Bug found before product Release
C. Bug found after product Release
D. Bug found during Design phase

Answer: A

NEW QUESTION 153
One Key reason why developers have difficulty testing their own work is:

A. Lack of technical documentation
B. Lack of test tools on the market for developers
C. Lack of training
D. Lack of Objectivity

Answer: C
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NEW QUESTION 156
Which of the following statements BEST describes one of the seven key principles of software testing?

A. Automated tests are better than manual tests for avoiding the Exhaustive Testing.
B. Exhaustive testing is, with sufficient effort and tool support, feasible for all software.
C. It is normally impossible to test all input / output combinations for a software system.
D. The purpose of testing is to demonstrate the absence of defect
E. The purpose of testing is to demonstrate the absence of defects.

Answer: C

NEW QUESTION 157
When a defect is detected and fixed then the software should be retested to confirm that the original defect has been successfully removed. This is called:

A. Regression testing
B. Maintenance testing
C. Confirmation testing
D. None of the above

Answer: C

NEW QUESTION 159
Which of the following, if observed in reviews and tests, would lead to problems (or conflict) within teams?

A. Testers and reviewers are not curious enough to find defects.
B. Testers and reviewers are not qualified enough to find failures and faults.
C. Testers and reviewers communicate defects as criticism against persons and not against the software product.
D. Testers and reviewers expect that defects in the software product have already been found and fixed by the developer

Answer: C

NEW QUESTION 163
Which of the following statements are TRUE?

A. Regression testing and acceptance testing are the sam
B. Regression tests show if all defects have been resolve
C. Regression tests are typically well-suited for test automatio
D. Regression tests are performed to find out if code changes have introduced or uncovered defect
E. Regression tests should be performed in integration testing.
F. A, C and D and E are true; B is false.
G. A, C and E are true; B and D are false.
H. C and D are true; A, B and E are false.
I. B and E are true; A, C and D are false.

Answer: C

NEW QUESTION 165
What do static analysis tools analyze?

A. Design
B. Test cases
C. Requirements
D. Program code

Answer: D

NEW QUESTION 169
Which of the following describes structure-based (white-box) test case design techniques?

A. Test cases are derived systematically from models of the system.
B. Test cases are derived systematically from the tester's experience.
C. Test cases are derived systematically from the delivered code.
D. Test cases are derived from the developers' experience.

Answer: C

Explanation: 
Answer (A) relates to specification-based testing, answer (B) relates to experience-based testing and answer
(D) could relate either to debugging or to experience-based techniques.

NEW QUESTION 171
Incidents would not be raised against

A. Requirements
B. Documentation
C. Test cases
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D. Improvements suggested by users

Answer: D

NEW QUESTION 173
Which of the following comparisons of component testing and system testing are TRUE?

A. Component testing verifies the functioning of software modules, program objects, and classes that are separately testable, whereas system testing verifies
interfaces between components and interactions with different parts of the system.
B. Test cases for component testing are usually derived from component specifications, design specifications, or data models, whereas test cases for system
testing are usually derived from requirement specifications, functional specifications or use cases.
C. Component testing focuses on functional characteristics, whereas system testing focuses on functional and non- functional characteristics.
D. Component testing is the responsibility of the technical testers, whereas system testing typically is the responsibility of the users of the system.

Answer: B

NEW QUESTION 176
Testing should be stopped when:

A. All the planned tests have been run
B. Time has run out
C. All faults have been fixed correctly
D. Both A and C
E. It depends on the risks for the system being tested

Answer: E

NEW QUESTION 180
Which of the following statements best characterises maintenance testing? [K2]

A. Maintenance testing is triggered by changes to delivered software and uses impact analysis to minimise the amount of regression testing needed
B. Maintenance testing is triggered by changes to software under development before initial delivery and uses the test plan to determine how much regression
testing to do
C. Maintenance testing is triggered by changes to the test environment and uses testing tools to perform regression testing
D. Maintenance testing is triggered by changes to the software environment and uses structural testing to ensure the changes function correctly

Answer: A

NEW QUESTION 182
What is a test condition?

A. A statement of test objectives and test ideas on how to test.
B. An item or event that could be verified by one or more test cases.
C. The process of identifying differences between the actual results and the expected results for a test.
D. All documents from which the requirements of a component or system can be inferre

Answer: B

NEW QUESTION 183
Why is independent testing important? [K1]

A. Because independent testers make fewer assumptions than developers
B. Because independent testers are isolated from the development team
C. Because independent testers can verify assumptions made during specification and implementation of the system
D. Because independent testers have a greater sense of responsibility for quality than developers

Answer: C

NEW QUESTION 186
Which of the following are 'Exit Criteria?'

A. Acceptance criteria, completion criteria, pass/fail criteria.
B. Coverage of code, schedule, estimates of defect density.
C. The last executable statement within a component.
D. Cost overrun

Answer: B

NEW QUESTION 189
Which of the following risks represents the highest level of risk to the project?

A. Likelihood of failure = 1%, potential cost of impact = $1m.
B. Likelihood of failure = 10%, potential cost of impact = $500,000.
C. Likelihood of failure = 20%, potential cost of impact = $150,000.
D. Likelihood of failure = 5%, potential cost of impact = $500,000.
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Answer: B

NEW QUESTION 191
What is static analysis?

A. The decision between using white or black box test techniques.
B. Executing software to validate the most common path through the code.
C. A technique to find defects in software source code and software models, performed without executing code.
D. It is a testing technique used during system testin

Answer: C

NEW QUESTION 196
A system calculates the amount of customs duty to be paid:
_ No duty is paid on goods value up to, and including, $2,000. _ The next $8,000 is taxed at 10%.
_ The next $20,000 after that is taxed at 12%.
_ Any further amount after that is taxed at 17%.
To the nearest $, which of these groups of numbers fall into three DIFFERENT equivalence classes?

A. $20,000 $20,001 $30,001
B. $2,000 $2,001 $10,000
C. $2,000 $8,000 $20,000
D. $1,500 $2,000 $10,000

Answer: C

NEW QUESTION 199
Which of the following BEST defines static techniques? [K1]

A. Executing the software work product
B. Manually examining the code or project documentation
C. Automated analysis of the code or project documentation
D. Manual examination and automated analysis of code or project documentation

Answer: D

NEW QUESTION 202
What content would be in an incident report if that incident report was based on the IEEE 829 Standard for SoftwareTest Documentation?
(i)Identification of configuration items of the software or system. (ii)Software or system lifecycle process in which the incident was observed. (iii)Description of the
anomaly to enable reproduction of the incident. (iv)Number of occurrences of the incident.
(v)Classification of the cause of the incident for metrics and for reporting purposes. Number of correct answers: 1

A. i, ii, iii
B. ii, iii
C. i, iii, iv
D. i, ii, iii, v

Answer: A

NEW QUESTION 203
Which of the following best describes the Black-box technique?

A. It uses decision coverage for completeness.
B. It ensures all possible branches in the code are tested.
C. It is based on the internal structure of the system.
D. It can be done without reference to the internal structure of the component or syste

Answer: D

NEW QUESTION 205
Which of the following accurately defines the integration testing test level? [K2]

A. Test basis includes software and system design, test objects include interfaces, and tests concentrate on the interactions between different parts of a system
B. Test basis includes component requirements, test objects include database modules, and tests concentrate on the behaviour of the system as a whole.
C. Test basis includes business processes, test objects include system configuration and configuration data, and tests concentrate on establishing confidence in
the system
D. Test basis includes use cases, test objects include user procedures and tests concentrate on a high level model of system behaviour

Answer: A

NEW QUESTION 209
Which of the following would NOT be a typical target of testing support tools?

A. Automate activities that require significant resources when done manually
B. Automate activities that cannot be executed manually
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C. Automate repetitive tasks
D. Automating repetitive inspections

Answer: D

NEW QUESTION 211
Which of the following BEST describes the relationship between test planning and test execution? [K2]

A. Test planning ensures the level of detail in test procedures is appropriate for test execution
B. Test planning schedules test execution but does not assign resources
C. Test planning defines the overall approach to testing but does not schedule specific activities such as test execution
D. Test planning identifies test objectives related to scope and risk but does not define the level of detail for test procedures used in test execution

Answer: A

NEW QUESTION 216
Which of the following is a consideration when deploying test execution tools? [K1]

A. Data-driven testing cannot be used with test execution tools
B. Recorded manual tests may become unstable in use
C. Keyword-driven testing cannot be used with test execution tools
D. Expected results for tests are not required because the tool generates expected results

Answer: B

NEW QUESTION 220
Which of the following statements is most true about test conditions?

A. An item or event of a component or system that can be verified by one or more test cases.
B. The grouping of a composite set of test cases which, when tested as a whole, reveal a positive or negative result.
C. A testable component derived from business requirements.
D. Applies to software testing onl

Answer: A

NEW QUESTION 224
Which from the following list are typically found to enable the review process to be successful? [K2]

A. Each review has clear defined objectives
B. The lower the number of defects, the better the review process
C. The right people for the review objective are involved
D. There is an emphasis on learning and process improvement
E. Management are not involved in the process at all
F. Checklists should not be used, as these slow down the process
G. Defects found are welcomed and expressed objectively
H. a, f and g.
I. b, c and f.
J. a, c and d.
K. d, e and

Answer: C

NEW QUESTION 226
Under which of the following circumstances is maintenance testing required? [K1]

A. Migration of software onto a new platform
B. Testing during initial development of a replacement for an existing system
C. Purchase of a new software tool
D. Updating of a regression suite

Answer: A

NEW QUESTION 230
Which of the following is a role of a formal review? [K1]

A. Adjudicator
B. Moderator
C. Governor
D. Corrector

Answer: B

NEW QUESTION 233
A data driven approach to test automation design is best described as:
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A. Using action words to describe the actions to be taken, the test data.
B. Scaling to support large numbers of users.
C. Being based on Equivalence Partitioning testing techniques.
D. Separating out the test data inputs and using a generic script that can read the test data and perform the same test steps with different data.

Answer: D

NEW QUESTION 234
How does software testing contribute to the quality of delivered software? [K2]

A. By detecting and removing all the defects in the delivered code and ensuring that all tests adhere to the quality standards set for the project
B. By measuring reliability of the software and ensuring that it is always above 99.99%
C. By identifying root causes of defects from past projects and using the lessons learned to improve processes and thus help to reduce the defect count
D. By detecting all deviations from coding good practice and ensuring that these are corrected

Answer: C

NEW QUESTION 237
From the following list, which of the following apply to experience-based techniques? [K2]

A. Test cases are derived from a model of the problem to be solved or the software
B. Test cases are derived from the knowledge of the testers
C. The knowledge of testers, developers and users is used to drive testing
D. The internal structure of the code is used to derive test cases
E. a and b.
F. c and d.
G. a and d.
H. b and

Answer: D

NEW QUESTION 242
What are metrics NOT used for?

A. To identify the percentage of work done in test environment preparation.
B. To identify the percentage of work done in test case preparation.
C. To apply to the RAD development model.
D. To measure whether dates of test milestones were me

Answer: C

NEW QUESTION 246
A live defect has been found where a code component fails to release memory after it has finished using it.
Which of the following tools would have been the MOST effective at detecting this defect prior to live implementation?

A. Dynamic analysis tool
B. Monitoring tool
C. Configuration management tool
D. Coverage measurement tool

Answer: A

NEW QUESTION 249
A new testing tool has been selected for an organisation and a pilot project has successfully completed. The next step is to deploy the tool within the organization.
What is a key success factor in tool deployment?

A. Estimate a cost-benefit ratio based on a firm business case
B. Determine whether benefits will be achieved at reasonable cost
C. Provide support for the test team using the tool
D. Assessment of organisational maturity, strengths and weaknesses

Answer: A

NEW QUESTION 252
Which of the following options BEST explain the pesticide paradox principle of testing?

A. If we do not regularly review and revise our tests, we'll stop finding defects
B. Repeatedly running a set of tests will ensure that a system is defect free
C. Defects are, paradoxically, often contained in a small number of modules
D. Testing, like spraying pesticide, is an effective bug / defect removal activity

Answer: C

NEW QUESTION 254
Which of the following represents good testing practice for testers, irrespective of the software lifecycle model used?
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A. They should start test analysis when the corresponding development level is complete
B. They should be involved in reviewing requirements or user stories as soon as drafts are available
C. They should ensure that the same test objectives apply to each test level
D. They should minimize the ratio of development levels to test levels to reduce project costs

Answer: D

NEW QUESTION 258
The following Test Cases have been created for a simple web-based airline booking system. Test Case 1: Search for an item Available Flights
Test Case 2: View selected item in My Flights Test Case 3: Login to the system: Login is accepted
Test Case 4: Select an available flight: item added to My Flights Test Case 5: Print confirmation receipt, then exit Test Case 6: In My Flights, confirm details and
book flight
Which of the following is the correct logical order for the test cases?

A. 6, 3, 1, 4, 2, 5
B. 3, 4, 1, 2, 5, 6
C. 3, 2, 1, 4, 6, 5
D. 3, 1, 4, 2, 6, 5

Answer: B

NEW QUESTION 259
Which of the following options describe the causal chain in the correct sequence?

A. Error, fault, failure
B. Fault, bug, mistake
C. Mistake, failure, fault
D. Failure, bug, error

Answer: A

NEW QUESTION 262
A booking system for a city bus service prices its fares according to the time of travel:
• Peak-time tariff starts at 0600 and finishes at 1000 am
• Off-peak tariff applies during all other times of service
• The bus service does not operate between 2300 and the start of the next day’s peak service Note that all times mentioned are inclusive.
When applying the equivalence partitioning test design technique, which of the following options, shows test case inputs that each fall into a different equivalence
partition?

A. 0600, 1000, 1200
B. 1001, 1300, 2259
C. 0100, 0800, 2200
D. 2400, 1000, 2301

Answer: D

NEW QUESTION 265
Which one of the following statements about testing techniques is TRUE?

A. Exploratory testing can replace black box techniques when testing time is very limited
B. Test execution scheduling should give priority to experienced based testing
C. Specification based techniques can be used as a substitute for a poorly defined test basis
D. Experienced based techniques are systematic and produce detailed test documentation

Answer: A

NEW QUESTION 266
Which of the following would you NOT expect to see on an incident report from test execution?

A. The version(s) of the software under test
B. The test execution schedule
C. Expected results and actual results
D. Precise steps to reproduce the problem

Answer: D

NEW QUESTION 270
A garden irrigation system allows the user to specify 2 inputs:
1. Frequency - The number of times the system should be automatically switched on per day; minimum once per day, maximum 5 times
2. Duration - The duration of operation, in whole minutes, each time it is switched on; ranging from 1 to 60 Applying 2-value boundary value analysis which of the
following options has the correct test set of valid and invalid boundary values?

A. Frequency 1, 5; Duration 1, 60
B. Frequency 0, 1, 5, 6; Duration 59 seconds, 1 minute, 60 minutes, 60 minutes 1 second
C. Frequency 0, 1, 5, 6; Duration 0, 1, 30, 60, 61
D. Frequency 0, 1, 2, 5, 6; Duration 0, 1, 30, 60, 61
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Answer: B

NEW QUESTION 275
Which of the following is a white-box test technique?

A. Decision table testing
B. Exploratory testing
C. Statement testing
D. Error guessing

Answer: C

NEW QUESTION 277
Which of the following would NOT be a common metric used for monitoring test preparation and execution?

A. Number of Test cases passed and failed
B. Percentage of planned test cases designed
C. Number of test plan review comments
D. Percentage of tasks complete in test environment preparation

Answer: D

NEW QUESTION 282
Which of the following would be a good test technique to use when under severe time pressure?

A. Exploratory testing
B. Structure based testing
C. Specification based testing
D. Use Case testing

Answer: B

NEW QUESTION 284
During the development of a software change for a system, the developer makes a mistake in his work, which leads to a fault in the code. Unfortunately the fault is
not found by software testing and is released into live.
What is the definite consequence of this mistake?

A. The system will fail, causing a defect
B. If the defect is executed, the system may fail
C. Loss of money, time, or business reputation
D. Contractual requirements have not been met by testing

Answer: B

NEW QUESTION 288
......
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